


NUMERATION
2. Entoune le mob qui. consient:
8 estbun momhe  PAIR  can il et diniaille pax 2
IMPAIR
3, Bomplite bos coluls,
¢ :
24 + ... =48 48 - 24 = ...
. + 40 - 48 48 - = 4
47 + ... - 48 48 - 48 = ...
—— L 48 - ... = 38
28 + .....= 48 48 - 4 = ..
| 30548 48 - ... = 42
2 H
= = 48 4x.... =48 |148:3= 48 : 6=
| BX....z48 N s =48 148:4- ... 48 . 2 =
DX = 48 48:8=....
10X =48 12x..-48 [48:12 - 48 116 =
24 x ... = 48 48 x ......=48 | 48 : 48 = 48 :24 =
1ded8= ... |1ded8=...... 1de48= ... |1de 48 .....| 1deds=...
2 4 8 3 b
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